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/! HIERE—ERAFPNETF
var users = |
name: "Bob", age: 20 },

name: "Tom", age: 25 },

P R e Sy

name: "Mike", age: 30 }

17

// I
var names = [];

for (var i = 0; i < users.length;i++) {

names.push(users[i].name);

}

// BRI :

var names = users.map(item => item.name);

// BRI :

var prop = propName => data => data[propName]
var names = users.map(prop('name"));

// BRI :

var names users.map(R.prop("name"));

// FEHBI:

var names

R.pluck("name") (users);
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http://ramda.cn/
https://github.com/sqfbeijing/articles/blob/master/ramda/ramda-api.md

Ramda.jsig11-3JLtbLodash

const getUserName = item => item.name

/*+*FREEN—1THE: Bl usersd, iR[ElusersinameHHAIENLH * * /

// RAiE—: F|HlodashAImap
const getAllNames = users => {

return .map(users, getUserName);

// FiE_: F|FRamdafImap
const getAllNames = users => {

return R.map(getUserName, users);

}
/] ===> AJEETN:

const getAllNames = R.map(getUserName)

getAllNames ([ {name: 'Susan', age: 20},

{name:

"Tom'

’

age:

21}1) //

[ 'Susan',

"Tom' ]
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SQLiET]

SELECT name, population FROM world WHERE name IN ('India’,

JS

// SRE—HRFPIER

const users = |
{ name: "Bob", age: 20 },
{ name: "Mike", age: 30 }

17

const ages = R.pluck("age") (users);
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const sayHello = userName => hi ${userName}

// REEERES
const greeting = sayHello('Bob') // "hi Bob"

// R EETES

const print = console.log // f log() { [native code]

print('hello world')

}



M  BRE—ZNER-ERSH

const users = |
{ name: "Bob", age: 20 },
{ name: "Tom", age: 25 },
{ name: "Mike", age: 30 }
17

const printUserName = user => console.log(user.name)

users.forEach(printUserName) ;



// prophiAIEITZEEIREI—EREN

var prop = propName => data => data[propName]

var names = users.map(prop('name"));

var ages = users.map(prop('age"));
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https://www.shuxuele.com/sets/function.html

let MaxPassengerCount = 20
// AFZERREN, MRES T SMERIATS
const isOverload = passengerCount => {

return passengerCount > MaxPassengerCount

/] ZERREL, AMKREGMPIRES
const isOverload = passengerCount => {
const MaxPassengerCount = 20

return passengerCount > MaxPassengerCount
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curry(f): X => Y => 2
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const currency = (prefix,amount) => ~S${prefix}${amount}"

// MR BB :
const phoneSpent = currency('$', '530.50') // "$530.50"
const bookSpent = currency('$', '20.98') // "$20.98"

// MR

const curriedCurrency = R.curry(currency)

/] ER— T ERTAEETFSHIREL

const dollarCurrency = curriedCurrency('S$')

const phoneSpent = dollarCurrency('530.50"'") // "$530.50"
const bookSpent = dollarCurrency('20.98') // "$20.98"
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handleFieldsChange = (key, e) => {
const { value } = e.target;
this.setState({ [keyl: value });
};

render() {
const { name, company } = this.state;
return (
div className={styles.searchForm}
Input
value={name}
onChange={e => {
this.handleFieldsChange('"name", e);

1

Input

value={company}

onChange={e => {
this.handleFieldsChange(" company"
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handleFieldsChange = key => e
const { value } = e.target;

thi

render() {
const { name, company } = this.state;
return (
div className={styles.searchForm}
Input value={name} onChange={this.handleFieldsChange('name")}
Input value={company} onChange={this.handleFieldsChange(" company")}
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export const curry = fn =>
(innerFunc = (...args) =>
args. length >= fn.length
?

fn(...args)

(...backArgs) => innerFunc(

...args,

.. .backArgs));
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g(h(x))
===> compose(g,h) (x)
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https://developer.mozilla.org/zh-CN/docs/Web/JavaScript/Reference/Operators/%E7%AE%A1%E9%81%93%E6%93%8D%E4%BD%9C%E7%AC%A6
http://www.apple.com/cn

R E4HE (compose)
const fruits = ["APPLE", "BANANA", "PEACH"];

/! BAREBREHAPE—TKR FHENNG
const head = function(data) {
return data[0];
}i
const toLowerCase = function(data) ({

return data.toLowerCase();

}i

const getFirstLowerCaseFruit = function(data) {

return toLowerCase(head(data));

i
getFirstLowerCaseFruit (fruits); // 'apple'
/] ==> BELK

const getFirstLowerCaseFruit = R.compose(toLowerCase,head);

getFirstLowerCaseFruit (fruits); // 'apple'

/! BEAI: g(h(x)) === compose(g,h) (x)
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] & (compose)-React HOC

class MyComponent extends React.Component {

const mapStateToProps = state => ({
contract: state.contracts.contract

});

export default auth(connect(mapStateToProps) (withRouter(MyComponent)));
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] & (compose)-React HOC

R

class MyComponent extends React.Component {

const mapStateToProps = state => ({
contract: state.contracts.contract

});

export default R.compose(
auth,
connect (mapStateToProps),
withRouter
) (MyComponent) ;
14 |
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] & (compose)-React HOC

EEQHE

const mapStateToProps = state => ({
contract: state.contracts.contract

});

@auth
@connect (mapStateToProps)

@withRouter
class MyComponent extends React.Component {

export default MyComponent;
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R Pointfree

/] i — T Z2ERRELEWHBE SR BN
const isMale = student => student.gender === 'male

const wasGraduated = student => student.graduated

const isMaleAndGraduated = student =>

R.both(isMale, wasGraduated) (student)

// value => f(value) FMTF f
// Pointfree Style

const isMaleAndGraduated

R.both(isMale, wasGraduated)



Pointfree

// isMale5iERIEL
student => student.gender === 'male’

const isMale

const isMale = student => R.equals('male', student.gender)
// ——

const isMale = student => R.equals('male', R.prop('gender')(student))
// ——

const isMale = R.pipe(R.prop('gender'), R.equals('male'))

/] ==> REERBEGLE

const isMale = R.propEq( 'gender', 'male’)
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// wasGraduatedHEHET

const wasGraduated
/] ==>

const wasGraduated

student => student.graduated

R.prop( 'graduated’')
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// BIRTE BT —E8ERE, MEARfESpointfreeXi&
fetchList().then().catch(e => dealError(e))

// 1EWRSE

fetchList().then().catch(dealError)

// FEIRTE
const userNames = users.map(user => getUserName(user))
// IEWRE

const userNames = users.map(getUserName)
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// EBIRTE
let isValid

const VALID CODE

= 200

// BEi&iRElcodeBM, AT
const code = res.code

// ZREVZIEFIRA
if (code === VALID CODE) {

isValid = true

} else {
isvValid

// ERRE
const isValid

/] ===>

const isValid

false

R.equals(VALID CODE, R.path(['code'], res))

R.compose(R.equals (VALID CODE), R.path(['code'])) (res)
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// http://git.highso.com.cn:81/main station/fe-antd-mainsite-order/merge requests/1
// BHDRYRN
saveQueryBankTypelist(state, { payload }) {
return {
...state,
querybanktypelist: payload,
}i
b
saveQuerySubbranchlist (state, { payload }) {
return {
...state,
querysubbranchlist: payload,
}i
// B
saveState(state, { payload }) {
const {data, prop} = payload
return {
...state,

[prop]: data
}i
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// http://git.highso.com.cn:81/fe/fe-h5-order/merge requests/67

/] ERERS

browsePwd = () => {
const { showPwd } = this.state;
this.setState({

showPwd: !showPwd

})

// A EERBAMERN:
togglePwd = () => this.setState(prevState => ({showPwd:

!prevState.showPwd}))
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// FlEh ESRMIEHR
export function isWeiXin () {
var ua = window.navigator.userAgent.toLowerCase();
var Weixin = ua.indexOf( 'micromessenger') !== -1;
if (Weixin) {
localStorage.setItem( 'goWindows', false);
return true;
} else {
localStorage.removeltem( 'goWindows');
$('.shareBtn').hide()

return false;

// B

export const isWeixin => /micromessenger/i.test(window.navigator.userAgent)
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Debug

test('test toNumber', () => {
expect(toNumber({})).toBe(0)
expect (toNumber(2)).toBe(2)
expect (toNumber('2...3re3')).toBe(2.33)
expect (toNumber('2.33")).toBe(2.33)
expect(toNumber('-2.33')).toBe(-2.33)

})
Debug

test('test milliFormat', () => {
expect(milliFormat(1234)).toBe('1,234.00"')
expect(milliFormat('1234"')).toBe('1,234.00"')
expect(milliFormat(-1234)).toBe('-1,234.00")
expect(milliFormat('-1234"')).toBe('-1,234.00")
expect(milliFormat('-123-4")).toBe('0.00")

})
Debug

test('test money', () => {
expect(money(1234)).toBe('¥1,234.00")
expect(money(-1234)).toBe('¥-1,234.00")
expect(money('-1234"')).toBe('¥-1,234.00"')
expect(money(1234, 2, false)).toBe('1,234.00')
expect(money(-1234, 2, fa )).toBe('-1,234.00")
expect(money('-1234', 2, false)).toBe('-1,234.00"')
expect(money('-1234', {})).toBe('¥-1,234.00"')
expect (money('-1234"', null)).toBe('¥-1,234.00")




debug

const calculate = R.compose(R.negate,R.inc,R.add)

calculate(2,3) // -6

calculate(2) // NaN FHEL T —R0)#, EEREREEIUATF

// BRFEE
const debug = R.curry(function(tag, value){
console.log(tag, value);

return value;

})i

const calculate = R.compose(R.negate,R.inc,debug('value here is:'),R.add)
calculate(2) // value here is: f fl(a) {...}

calculate(2,3) // value here is: 5
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